Installation Instructions

SmartRack® Service Entry Hood

Model: SRSEHOOD

Espaiol 3 * Frangais 5 * Pycckun 7

explicitly described and approved by Tripp Lite. Do not attempt to add or remove the roof panel without

2 WARNING: Do not attempt to use the roof panel for weight-bearing purposes other than those
assistance.

1. Remove the Roof Panel
Models with a Toolless Roof

Pull the 2 pins near the rear of 9 Remove the roof panel tabs ﬂ B Lift the roof panel from the
the roof panel B While holding from the roof panel attachment enclosure.
the pins, push the roof panel slots B in the enclosure frame.
upward B

pe—— |

WARRANTY REGISTRATION

Register your product today and be
automatically entered to win an ISOBAR®
surge protector in our monthly drawing!

tripplite.com/warranty

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Copyright © 2021 Tripp Lite. All rights reserved.

Manufacturing
Excellence




1. Remove the Roof Panel (continued)
Models with Screws Securing the Roof

Remove the four 4 screws (2 on front, 2 on back) that a Lift the roof panel from the enclosure.
attach the roof panel to the unit.

4 )

-

2. Installing the Drip-Resistant Cable Access
Housing

Remove one of the rubber sealing plugs from the top rear of the
enclosure by pushing it out from inside of the unit.

g Using the included M4 x 8 mm pan head machine screws and toothed
washers (4 of each), fasten the screws into each of the threaded
holes.

Tripp Lite has a policy of continuous improvement. Product specifications are subject to change without notice.
Photos and illustrations may differ slightly from actual products.

TRIPPLITE ®

Excellence

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

21-04-128 93-3ECE_RevA

2



Instrucciones de Instalacion

Capuchon de Entrada para
Servicio SmartRack®

Modelo: SRSEHOOD

English 1  Frangais 5 * Pycckun 7

ADVERTENCIA: No intente usar el panel de techo para soportar pesos que no sean los descritos
explicitamente y aprobados por Tripp Lite. No intente colocar o retirar el panel de techo sin ayuda.

1. Retire el Panel del Techo
Modelos con Techo Sin Herramientas

Jale las 2 clavijas cercanas a la 9 Retire las pestanas ﬂ de las 9 Levante el panel de techo del
parte trasera del panel de techo ﬂ ranuras de fijacion del panel de gabinete.
Mientras las sostiene, empuije el techo B en el marco del gabinete.
panel de techo hacia arriba b

Al o g
Excelencia en
* ‘ ’ Manufactura.
1111 W. 35th Street, Chicago, IL 60609, EE. UU. * tripplite.com/support
Copyright © 2021 Tripp Lite. Todos los derechos reservados.

3



1. Retire el Panel del Techo (continuacién)
Modelos con Tornillos de Sujecion del Techo

Retire los cuatro tornillos (2 en la parte delanteray 2 en a Levante el panel de techo del gabinete.
la parte trasera) que fijan el panel de techo a la unidad.

4 )

-

2. Instalacion del Alojamiento de Acceso de
Cables Resistente al Goteo

Retire los tapones de cierre de caucho desde la parte trasera superior
del gabinete empujandolo hacia afuera desde dentro de la unidad.

g Usando los tornillos de cabeza plana M4 x 8 mm y arandelas dentadas
(4 de cada uno) incluidas, sujete los tornillos en cada uno de los
orificios roscados.

Tripp Lite tiene una politica de mejora continua. Las especificaciones del producto estan sujetas a cambios sin previo aviso.
Las fotografias e ilustraciones pueden diferir ligeramente de los productos reales.

TRIPPLITE

Manufactura

1111 W. 35th Street, Chicago, IL 60609 EE. UU. ° tripplite.com/support

21-04-128 93-3ECE_RevA

4



Instructions d'installation

Hotte d'entrée du service SmartRack®
Modele : SRSEHOOD

English 1 « Espaiiol 3 « Pycckun 7

celles explicitement décrites et approuvées par Tripp Lite. Ne pas tenter d'ajouter ou de retirer le

2 AVERTISSEMENT : Ne pas tenter d'utiliser le panneau de toit a des fins de mise en charge autres que
panneau de toit sans aide.

1. Retrait du panneau de toit
Modeéles avec toit sans outil

Tirer sur les 2 goupilles prés de 9 Retirer les languettes du panneau B Soulever le panneau de toit hors du
l'arriere du panneau de toit m Tout de toit Bdes fentes de fixation du boftier.
en retenant les goupilles, pousser panneau de toit Bdans le cadre
le panneau de toit vers le haut B du boftier.

pe—— |

TRIPPLITE @

Industrielle.
1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Droits d'auteur © 2021 Tripp Lite. Tous droits réservés.
5



1. Retrait du panneau de toit (suite)

Modeéles avec vis pour retenir le toit

Retirer les 4 vis (2 a l'avant, 2 a l'arriére) qui retiennent a Soulever le panneau de toit hors du boftier.
le panneau de toit a l'appareil.

4 )

-

2. Installation du boitier d'acces aux cables
résistant au ruissellement

Retirer 'un des bouchons males en caoutchouc de l'arriere du boitier
en le poussant vers l'extérieur depuis l'intérieur de l'appareil.

B} En utilisant les vis mécaniques & téte cylindrique M4 x 8 mm incluses
et les rondelles dentées (4 de chacune), insérer les vis dans chacun
des trous

La politique de Tripp Lite en est une d'amélioration continue. Les caractéristiques techniques sont modifiables sans préavis.
Les produits réels peuvent différer Iégérement des photos et des illustrations.

TRIPPLITE ®

Industrielle

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

21-04-128 93-3ECE_RevA

6



PyKoBOACTBO MO MOHTaXy

Koxyx ana kabenbHoro BBoga SmartRack’

Mopenb: SRSEHOOD

English 1 « Espaiiol 3 * Frangais 5

BHUMAHME! He nbiTaiitech ncnonb3oBaTh BepXHIOw NaHenb Wwkada Ans pa3meLLeHna TAXKenbIX NpeAMeToB 3a MCKNIoYeHUeM Cy4aes, ABHbIM
06pa3om onucaHHbIX 1 0A06peHHbIX komnanueii Tripp Lite. He nbiTalitech ycTaHaBnMBaTh U CHUMATh BEPXHIOI NaHeNb WKada B 0AMHOYKY.

1. CHATMe BepXHeil naHenw

[ina mopaeneii c BepxHeil NaHeNbio, MOHTUPYEMON 6e3 NOMOLLM UHCTPYMEHTOB

n [oTAHWTE Ha ce6a 2 WTndTa, pacnonoxeHHble B
3a/IHeil YyacTi BepXHeil naHenM“. Ynepxugas
WTUTbI, BbITONKHUTE BEPXHIOW NaHeNb No
Hanpasnetuio Bepx 3.

BbiHbTe A3bIYKY BEpXHEli NaHenH “ u3ee CHUMUTE BEPXHIOK NaHeNb €O LKada.
monTaxHbix nasos [ & kapkace wkaga.

pe—— |

EAL

TRIPPLITE ®

KauecTsa

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

OxpaHsetca aBTopckum npasom © 2021 Tripp Lite. Mepeneuatka 3anpeLyaetca.

7



1. CHATUe BepXHeil MaHenM (npopomkenne)
Iina mogeneii ¢ BepXHeii NaHenblo, 3aKpennAaeMoil BUHTaMU

n BbiepHuTe 4 BUHTA (110 2 ciepeay v c3apm), obecneynBaioLLye Kpennenme a CHUMWTE BEPXHIOI0 NaHenb o WKada.
BepXHeil NaHenu K Kopnycy.

N [

1! 7

2. YcTaHoBKa 6pbl3f0HEﬂp0HI/Il.|aEMOI'0 KaGenbHoro BBoAa

n BbIHbTE OZ1HY 13 PE3UHOBbIX YNNOTHUTENbHBIX 3aryLUEeK B 3aHeil YacTy BepxHeil NaHenn WKada,
BbITOJIKHYB €€ Hapy»ky U3HYTPH Kopryca.

Wcnonb3ys nocTaBnsemble B KOMNNEKTe KpenexHble BUHTbI M4 X 8 MM ¢ nI0CKO-CKpYTeHHOi
TOJIOBKOIA U LWAii0bI ¢ 3yObAMIA (110 4 LUT. KaX0r0), NNOTHO 3aBEPHUTE BUHTBI B KaX0€ U3
pe3b00BbIX OTBEPCTHiA.

Komnanua Tripp Lite noctoAHHO COBEPLUEHCTBYET CBOK NMPOAYKLINI0. B cBA31 C3TIM BO3MOXHO 3MEHEHMe TEXHINYeCKNX XapaKTePUCTUK naenna 6e3 NpeLBapuUTeNbHOr0 yBEOMNEHNA.
BHewnwii Bug peanbHbIX 31NNl MOXKET HECKONbKO OTINYATBCA OT npeacTaBEHHOro Ha ¢0TOFpa¢MﬂX NUNNIOCTPaLnAX.

TRIPPLITE ®

KauecTsa

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

21-04-128 93-3ECE_RevA

8



